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below. below. below.
a | 2+3x4 a | 2+3x4 a | 2+3x4
b | 5x6-10 b | 5x6-10 b | 5x6-10
C | 6+3+2 C | 6+3+2 cC | 6+3+2
d | 9-12+3 d | 9-12+3 d | 9-12+3
e | 2(6)+4 e | 2(6)+4 e | 2(6)+4
f | 2+9+3 f | 2+9+3 f | 2+9+3
g | bx3)-2 g | 6x3)-2 g | 6x3)-2
h 6+E h 6+Q " 6"‘9

5 5 5
i | 10-2(3) i | 10-2(3) i | 10-2(3)
] 6-+3(5) ] 6-+3(5) ] 6-+3(5)
k | 10x8+2x3 k | 10x8+2x3 k | 10x8+2x3
I 4+2x3-1 I 4+2x3-1 I 4+2x3-1
m | 4+2+5-2 m | 4+2+5-2 m | 4+2+5-2
n | 3-1 n | 3-1 n | 3-1
o | 76+)) o | 76+) o | 76+))
p | (7x4)+2 p | (7x4)+2 p | (7x4)+2
q | 5x(12+4) q | 5x(12+4) q | 5x(12+4)
r | 32+1)-2 r | 32+1)-2 r | 32+1)-2
s | 5+3(9+3) s | 5+3(9+3) s | 5+3(9+3)
t | 12—-(2x4)+5 t | 12—-(2x4)+5 t | 12—-(2x4)+5
U lq_(+3) U lq_(+3) U lq_(+3)

5 5 5
v 12 o v 12 2 Vv 12 49

(3+3) (3+3) (3+3)

W 2+ -1 W 2+ -1 W (2+D*-1
X | 4+(2x3)? X | 4+(2x3)? X | 4+(2x3)?
Y | (2+1)?%5 Y | (2+1)*x5 Y | (2+1)*x5
zZ | 224(6+2)-5 z | 224(6+2)-5 z | 224(6+2)-5

Task 2 — Insert either >, <or =
between each calculation below to
make the statement true.
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a| 3x8-10 5+3(4) a| 3x8-10 5+3(4) a| 3x8-10 5+3(4)

b|2x5+6 2+3(9-3) b|2x5+6 2+3(9-3) b|2x5+6 2+3(9-3)
c|5+3(4+2) 3x5+2x4 c|5+3(4+2) 3x5+2x4 c|5+3(4+2) 3x5+2x4
d| 21+3+1 (5+3)*-42 d| 21+3+1 (5+3)*-42 d| 21+3+1 (5+3)*-42

Task 3 — Insert one set of brackets
in each of the following calculations
to make it true.
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Task 3 — Insert one set of brackets
in each of the following calculations
to make it true.

a | 10-2x4=32 a | 10-2x4=32 a | 10-2x4=32

b 21+3+4=3 b 21+3+4=3 b 21+3+4=3

C 5+3x2+4=15 c 5+3x2+4=15 c 5+3x2+4=15

d | 23+4=10 (Tough one!) d | 23+4=10 (Tough one!) d | 23+4=10 (Tough one!)




